Pre-Algebra Name: \L(;\\

U7L6 (8-8) Practice

1. Graph each inequality. Solve for y if not already in slope-intercept form. i
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2. Isthe origin a solution to the inequality in part a? Why or why not?
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3. Is (2, 0) a solution to the inequality in part c? Why or why not?
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4. Is (9, 8) a solution to part d? Why or why not?
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5. You have a jar of quarters and dimes. You know the total value is no more than
a2 ;Dom Write an 'inequal.ity where x = number. of quarter§ and y = number of dimes.
Then graph your inequality (make sure to put into slope-intercept form first).
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a. Give two different combinations of possible coins.
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6. There are cars a parking lot. There are at least 72 total wheels
in the parking lot. Write an inequality where x = number of cars and y = number of
trucks. Then graph your 1nequa11ty (make sure to put into slope-intercept form first).
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a. Give two different combinations of possible vehicles.
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